
Problem Description 

 
 

 

Analysis 

01:34 
H2 H1 M2 M1 
0 1 3 4 

 
{0,1,3,4} 
M1 == 4 
M2 == 3 Return 01:43 
 
{1, 3, 4, 9} 
19:34 à 19:39 
{1,3,9} 
19:39 à 11:11 
{2,3,5,9} 
23:59 à 22:22 
 

H2 H1 : M2 M1 
1 9  3 4 



0 <= H2 <= 1 and 0 <= H1 <= 9                 0 <= M2 <= 5 and 0 <= M1 <= 9  
H2 = 2 and 0 <= H1 <= 3                       0 <= M2 <= 5 and 0 <= M1 <= 9  
 

• 0 <= HH < 24 
• 0 <= MM < 60 

 

Algorithm 

Read in all distinct numbers: S, rank it. 
ab:cd 
For M1, test if there exists e in S such that d < e <= 9. If yes, return ab:ce. 
For M2, test if there exists e in S such that c < e <= 5. If yes, return ab:ed’, where d’ = min(S). 
For H1,  
 If H2 =2, test if there exists e in S such that b < e <= 3. If yes, return ae:d’d’, where d’ = min(S). 
  Else, test if there exists e in S such that b < e <= 9. If yes, return ae:d’d’, where d’ = min(S). 
         Else, find e = min(S). Return worstCase(S). 
For H2, test if there exists e in S such that a < e <= 2, If yes, return ed’:d’d’, where d’ = min(S). 
Else, call worstCase(S). 
 
 
Method: worstCase 
 
This method takes in S and return ee:ee where e = min(S). 


